



































































































































































































































11.

12.

13.
14.

13.

14.

15.

ForMorePapersal::::

The equation of a circle is given as 3x? + 3y?— 12x + 18y + 8 = 0. Find the centre and radius of
this circle. (4 Marks)
Quantity Q partly varies as quantity R and partly varies inversely as the square of R. Given

thatQ =3 whenR=1and Q=5 when R=%

(i) Find the equation connecting Q and R (3 Marks)
(ii) Find the value of Q when R=% (1 Mark)
Find the integral values of x for which; 5<3x + 2 and 3x — 14 < -2 (3 Marks)

Three soldiers Mutiso, Nzangi and Kisilu went for a shooting practice. The probability of
Mutiso, Nzangi and Kisilu hitting the target are é, i,and % respectively. The three gentlement

hit the target only once, one after the other. What is the probability that the target was hit
atleast once? (2 Marks)
Solve for x in the equation. (3 Marks)

Logs (x + 6) — Logs (x —3) =§
Gjven that OA =i + 2j— 3k and OB = 2i—j— 2k

Find | AB| (2 Marks)

SECTION Il =50 MARKS
Answer only five questions from this section
(a) Complete the table given below by filling the blank spaces.

X Q° 15° 30° 45° 60° 75° 90° 105° 120° 135° 150° 165° | 180°

4 4.00 2.00 0 -2.00 | -346" | -400 | -346 | -4.00 |-3.46 | -2.00 4.00

Cos
2x

2Sin | 1.00 | 1.73 2.00 1.73 0 -1.00 | -1.73 | -2.00 | -1.73 0 1.00

(2x +
30)

(2 Marks)
On the grid provided draw’the graph of y = 4 Cos 2x and y = 2 Sin (2x + 30°) for 0° < x 180°.

Take the scale 1cm fof”15° on the x — axis and 2cm for 1 unit on the y-axis. (5 Marks)
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Use the diagram to calculate to two d.p

The length PQ

(2 marks)

a)

(2 marks)

The length PB

b)

(2 marks)

Area of minor segment of circle centre A

(2 marks)

Area of minor segment of circle centre B

d)

(2 marks)

The area of shaded region.

e)

(a) (i) Fill the table below for the function.

19.

(2 marks)

2x2+5x—12 for-8<x<4

y:

32

20

-12

40

-12

18

-15

9.7
06

N
N

128

-40

-12

76
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Paper 2
SECTION 1
1. Evaluate without using tables or calculator. (3mrks)
2.5 x | 18
3x |12.8
2. Given that 6 <x < 13 and 2 <y <5. Find the range within whichx + y lies (3mrks)
X -y
3. (a) Find the standard deviation for the set of numbers 2,5,6,7,3, 8,9, 8, (3mrks)
(b) Suppose a constant term 5 is added to every number. Find the new standard
deviation give a reason for your answer. (1mrk)
4, A point P divides the line RT in the ratio -2:5. Find the coordinates ofP given R(3,1) and T(6,-
5) (3mrks)
5. Expand (1 + 2x) 7 upto the term in x3. Use your expansion to:estimate (1.02)’to 4dp.(3mrks)
6. Three business partners Denga, Nyamita and cobe agreed to share shs. 1800 gained after a
sale ofproperty. For every shs. 1 that Denga gets, Nyamita gets 50cts and for every shs 2 that
Nyamita’sgets cobe gets shs. 3. Find Nyamita’s shate. (3mrks)
7. The probability of a couple getting a baby girl'is 0.55 and that of a baby boy is 0.45. The
couple intend to have two children. Findthe probability that they will be of different sexes.
(3mrks)
8 Use logarithm table to evaluate. (4mrks)
6.79 x 0.39113%/
log
9. In what ratio will coffee grade A costing kshs. 90 per kg be mixed with grade B costing
kshs.60 per kg sgithat a profit of 25% is realized by selling the mixture at kshs.80 per kg.
(3mrks)
10. h varies directly as v and inversely as the square of r. Find the percentage change in hifv is
increased by 20% and at the same time r is increased by 50%. (3mrks)
11. In the figure below, BT is a targent to the circle at B. AXCT and BXD are straight lines. AX
6cm CT = 8cm, BX =4.8cm and XD =5cm.
For More Papers an 720502479
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